racen met Zoem

minsommen tot 20, blad |

JUF JOYCELLA

\

hoeveel sommen maak jij goed in | minuut? -

12-8= 18—-4= Q_7 =
11-3= 9-3= 15-9 =
11-7= 14-11= 13-4 =
14-11= 12-10= 18-17 =
20-12= 17-4= 12-9 =

6-6= 7] -6 = 8_8=
12-1= 11-10= 17-14=
13-3= 13-9 = 11-3=
20-12 = 10-10= 17-15=
20— 5= 19-11= 17-9=
8—-6= 3-3= 13—-1=
11-8= 16 —4 = 14-10=
10-9 = 15-12= 20-1=
11-5= 14-9 = 5_92=
16 -3 = 19-16= 10-1=
1° keer




JUF JOYCELLA

racen met Zoem
minsommen tot 20, blad 2 .\
hoeveel sommen maak jij goed in | minuut?
6—4= 19 -8= 17-9=
20-6= 20-20 = 14-5=
6—5= 15-10= 19-19 =
18— 4= 167 = 17-2=
19-5= 10-6 = 11-4=
18-8= | 20-5= 121 =
4-3= 9 _ 5= 12— 4 =
17-3= 9-4= 16 -3 =
S—4= 20-7 = 11-4=
17-1= 7-1= | 18-8=
205 = 167 = 14-9 =
15-12= 16-3= 14-13 =
16-12= 19-14= 1/-17=
19-10= 14-5= 19-18 =
15-11 = 15-3= 7-1=
1° keer




JUF JOYCELLA

racen met Zoem

minsommen tot 20, blad 3 .\
hoeveel sommen maak jij goed in | minuut?
11-9= 11-56= ?2-1=

19 -8= /—-3= 4-3=
7_3= 12— 6= 13-8=

16 -4 = 15-5= 15-6=
3—3= 19-2= 11-1=
10-05= 9-3= 7—1=

16 -56= 1/-5= 12-12=
6-5= 16 -9 = 20— 12 =
b6—4= 13-3= 13-11=
S5—-0= 19-3= 20-11=
15-5= 20-5= 14— 4=

18-11= 12-9 = 1/=-1=
/—6= 16-15= 11-6=
18-8= |12-11= | 13-3=

12-10= 19-11= 19-3=

1° keer




JUF JOYCELLA

racen met Zoem

minsommen tot 20, blad 4 \
:p

hoeveel sommen maak jij goed in | minuut? -

14-6= 11-56= 19-13=
11-6= 14-10= 15-13=
16-11= 15-9 = 19 -7 =
6—5= 15-8= 18-1=
17-12= 16-16= 11-3=
19 -9 = 14-7 = 19-19 =
16-2= 18-3= 15-11 =
11-1= 20—-7 = 6—4 =
16 -3 = 10-1= 14-1=
20-15= 19 -4 = 20-15=
18-10= 15-14= 14-2=
19-17 = 18-15= 13-8=
3-2= 12-12 = 11-9 =
20-12 = 13-56= 19 -8 =
12-6= 13-11= 17 -7 =
1° keer




JUF JOYCELLA

racen met Zoem

minsommen tot 20, blad 5 \
:p

hoeveel sommen maak jij goed in | minuut? -

18-5=|20-14= 5_5=
18-2= 14-9= [18-10=
13-12= 9-2= 7 -0 =
1512 = 11-5= o_g8=
19-11= | 20-2=  17-14=
19_2= 20-7= |[14-11=
20— 6 = 155 = 8_ 4=
16-4= | 18-7= 61 =
12-7= 18-3= |15-13=
18- 6= 14-1= [15-15=
14-3= | 13-8= | 12-6=
1/-15= 5-3= 6—2 =
7-3= | 16-3= 15-12=
18 -8 = 15-2 = 19 — 6 =
13-12= 20-8= 19— 14=
1° keer




